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ViiM Virudhunagar District
Common First Mid Term Test - 2024

Standard 11
Time: 1.30 Hrs. MATHEMATICS Marks-

Part-1
Choose the best answer: 10x1=10
| 1) Let A and B be subsets of the universal set N, the set of natural numoers
then A'U[(ANB)UB'] is
a)A b) A' c)B d) N
2) LetRbe the universal relation on a set X with more than one element. Then &

)

a) not reflexie b) not symmetric
¢) transitive d) none of the above

3) The number of constant functions from a set containing m elements to a set
containing n-elements is

a)mn b) m cn d)m+n
4) The function f:R—R is defined by f(x) = sinx+cosx is
a) an odd function b) neither an odd function nor an even function
) an even function d) b odd function and even function
5) If x-2 >0, then x belongs to
X=2 :
a) [2, ~) b) (2, ) (=2  d)(-2=)
6) The value of Iogﬁ 512 is _
a) 16 b) 18 c)9 d) 12

7) 1f 8 and 2 are the roots of x*+ax+c = 0 and 3, 3 are the roots of x+dx+b = 0
then the roots of the equation x*+ax+b = 0 are

a)l, 2 b)-1,1 c)9, 1 d)-1,2
8) The number of roots of (x+3)*+(x+5)* = 16 is
a)4 b) 2 c) 3 d) 0
9) If cos280+5in28° = K3, then cos17° is equal to
K3 -3 K3 ‘ -3
a) = b) —— + -
J ) %2 N N7
3n e ———
10) If r < 20 < X then Jz + V2 + 2cos 40
a) -2 cosl b) -2 sinv €) 2 coso d) 2 sin®

Part - II

Answer ANY FOUR questions: 4x2=8

11) Let Aand B be two sets such-that n(A) = 3 and n(B) = 2. If (x, 1), (v, 2), (z, 1)
are in AxB, find A and B, where x, y, z are distinct elements.
12) 1f 12 RoR s defined as f(x) = 2x<1 find the preimages of 17, 4.
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Answer ANY FOUR questions:

23)

24)
25)

26)

27)

28)

www.Trb Tnpsc.Com

o R = Y2 B s -y ~
FhAandBaetwosststhat N~ =N &-C =& &-¢ \ - -
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Simpiify by rationalising the genommator: T =
- N-
by = 2150 > ,-::\ —_ - .’.C:: .- -:;:: - -
Prove thzt t2n 315° cot (=2 R R -
2 - c N R S -
-r - : = — n — - N < B v 2 ~F o o-
If sinA == and cosB=—,04AFK 5, 0<B<%g, Fd the vaioe of s~ (A+5
=
S =2 2 Z

>
-

In a survey of 5000 persons in & town. It was found that 5% of the persons

of persons who knows only language A.
If f, g : R—R are defined by f(x) = |[x|+x and g(x) = Ix]-Xx, find gof an
If one root of K(x~1)? = 5x-7 is double the other root, show thatX\ = 2 or -2

(&9
-
£

g

16 25 81
+16log— + £2 +7109— = 1.
Prove that log2 +~ 16log G 12log ¥ 930

Show that tan75°%+cot75° = 4,

= (¢
If . v1-8 508
2 \ll*a 2

"

, then prove that C0s¢
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